JVEG

-
<
D
Z
<
=
L]
S
>
ia
L]
0

g
LLI
%
<
LLI
o
n
O
LLI
0
LLI
-
n
e
<
O

00
™
o
©
al
-
V)
O

tenance does not

-
(8]
-

e
(o]
| .
o

L

e

o

o
at
E>
o
Q
Q.
S w®

Serv

Area Suffix
UF ------ China

e

0 >

230606035
080805
390905

030%¢
03086
e
0802850505
020805080
02080859090
0208022905050
00908080303028.
19308080

%
000, 09020505]
39e80g02000509080%0¢ o
paesee0200050905086885e80505000
3850505080050805e8a02eS
808080808080808080902080f
0008050505050 08a0e50!
10808080808080803080!
o0e50800808a0e008e 02
2080208020809020802090k
0508
890 893004
R ey
08050808080 8a8e8580 50000
58690208080859080205030307
808080808650802050505050)
000008e335080805a5000507
00008000806000303050500
8080808080805080303080%
009e800080502050505007
2 08058802020505050505
53690808096858020205
30826968000020590552355;
S8e80803280008000855

0
80

UNIT : mm

221

SPECIFICATION

15 cm x 23 cm (6" x 9") 3-Way Coaxial Speaker,Rear mounting

240 watts (MAX. MUSIC POWER)

N |~
°|3
~ |2
© |3
2o
>l
GIX|~
< S [
>

=

S

©

o

]

(@]

o

c

5 @
2|88
HnM
Sls
52|20

o ]

o3| al22

yomaa

Flaol|lE|=Z|=

Design and specifications are subject to change without notice.

No.MA024

COPYRIGHT © 2003 VICTOR COMPANY OF JAPAN, LIMITED

2003/7



SECTION 1
PRECAUTION

1.1 Safety Precautions

A CAUTION Burrs formed during molding may be left over on some parts of the chassis. Therefore,
pay attention to such burrs in the case of preforming repair of this system.

SECTION 2
SPECIFIC SERVICE INSTRUCTIONS

2.1 ACCESSORIES

Metal Net X2
Grille X2
Net Fixer (10 cm) X 2

Screw (M4 x 70 mm) ===--m==nnnnnnemm- X8

© o>
@Dﬁm Screw (¢4 x 25 mm) ----------mnnn---- X 8
)

G Nut (M4) x 8

@ Speed Nut X8

Speaker Cord (5 M) ==--mmmmmnmmmmmmeee X 2

\/ Plane Washer (M4) ------------enunn--- X8
@ Spring Washer (M4) -------mnnmmmeemmn- X 8

1-2 (No.MA024)



SECTION 3
DISASSEMBLY

This service manual does not describe DISASSEMBLY.

SECTION 4
ADJUSTMENT

This service manual does not describe ADJUSTMENT.

SECTION 5
TROUBLE SHOOTING

This service manual does not describe TROUBLE SHOOTING.

(N0.MA024)1-3



VICTOR COMPANY OF JAPAN, LIMITED
AV & MULTIMEDIA COMPANY MOBILE ENTERTAINMENT CATEGORY 10-1,1chome,Ohwatari-machi,Maebashi-city,371-8543,Japan

(No.MA024)

Printed in J
rinted in \Tsn

C



	SECTION 1 PRECAUTION
	1.1 Safety Precautions

	SECTION 2 SPECIFIC SERVICE INSTRUCTIONS
	2.1 ACCESSORIES

	SECTION 3 DISASSEMBLY
	SECTION 4 ADJUSTMENT
	SECTION 5 TROUBLE SHOOTING

